Estimating Labor Income Profiles: Step by Step Command

Data requirements: Individual data employee compensation, entrepreneurial income, retirement pay. For Taiwan for example, these are:

· ws = working status

· tx19 = individual employee compensation (total)
· tx15 = individual retirement pay

· tx24 = individual entrepreneurial income

Steps in more detail:
1. Set ages 90 and over to 90 (to be consistent with age groups across countries):  recode age (90/max = 90);   

2. Generate variable for employment labor income (YLE): 

· gen YLE = tx19 - tx15;  (where tx19 = individual employee compensation, and tx15 = individual retirement pay).

3. Generate variable for self-employment labor income (YLS). 

· gen YLS = tx24*2/3; (where tx24 = individual entrepreneurial income)

4. Next, we allocate self-employed income using mean wage of wage earners as weights (assuming that wages reflect average productivity). This way unpaid family workers are given imputed self-employed income. Create weight for self-employed income using average wage of wage earners (ws==2) by age: 

· gen wage_worker=YLE if ws==2; 

· egen mean_wage_worker=mean(wage_worker), by(age);  (this creates a variable that contains self-employment wage for each person based on mean earning for that age).

5. Include unpaid family workers (ws==4) as self-employed individuals:

· gen self_employed=(ws==1|ws==3|ws==4);

6. Sum the wage of wage earners for the household:

· replace mean_wage_worker=0 if self_employed~=1; (clears self-employment wages so it is not included in the sum)

· egen hhwage_worker=sum(mean_wage_worker), by(savehhid);

7. Sum all the entrepreneurial income of indivdiuals in a household

· egen hh_YLS=sum(tx24), by(savehhid);

8. Allocate household self_employed income (hh_YLS) to self-employed workers in a household using percent of mean wage of wage earners (by age) to total household wage of wage earners as weight

· gen share_YLS=(mean_wage_worker/hhwage_worker)*hh_YLS;

· recode share_YLS .=0;

· replace share_YLS=share_YLS*2/3
9. Tabulate self_employed income per age using imputed YLS

· gen mult_new=mult; recast int mult_new, force; (this is to change storage type of the weight variable into integers, if you get a Stata format error)

· table age [w=mult_new], c(mean share_YLS); 

· table age [w=mult_new], c(mean YLE); (makes tables to copy into Excel and use in constructing NTA accounts)

